Candle Center - Infinite Precalculus
Combinations

List all possible combinations. 1)

T, V, W, taken two at a time

3) 4,5, 6,7, taken three at a time

Evaluate each expression.

5) 81C11

7) 7Cs

9) 2.C4

11) ,, +1-Cg,

13) ,,-3C,

15) Explain why C=,C .

Name

Date

2) 1,2, 3,4, taken two at a time

4) ©,%% 9, A, m taken two at a time

6) ,C,

8) 15Cs

10) ,sC,

12) 1+,,C ¢

14) ,C,, +2

16) Write a combination that equals 12345

Period



Candle Center - Infinite Precalculus
Combinations
List all possible combinations.

1) T, V, W, taken two at a time

Name

Date

2) 1,2, 3,4, taken two at a time

Period

vV VW 12 23
™W 13 24
14 34

3) 4,5, 6, 7, taken three at a time 4) ©,%% 9, A, m taken two at a time

456 567 Ot Ity vm
457 O ItA Am
467 OA Itm

Om VA

Evaluate each expression.

5) 18C11 6) 24C4
31,824 10,626
7) 17CS 8) 18C5
6,188 8,568
9) 22C4 10) 15C9
7,315 5,005
11) =14 ,,Cq 12) 1+,,Cy
33,648 7,316
13) 3-,,C; 14) ;€\, +2
127,512 6,190

15) Explain why C,= _C_ _, 16) Write a combination that equals 12345

Choosing n — 3 means three are being left behind. 12345C1
You could think of it as choosing three.



